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OUT2　Normal Current is about 57mA with multi-meter test:
[image: cid:image004.png@01D590C5.3809A190]




OUT2　short to GND current is about 110mA with multi-meter test:[image: cid:image005.png@01D590C5.8B8C6A50]
image1.png
> o g

=

e 3 K
s >

) i3

3 ¢ 5

4t .

B b

H .Ek S Y Veow
s Vi oo VV iz

<0 200ma|

.
e

e vV Vi 1w Y Ve

»

I ozt 1o sovoe0m TR ot

f
gt
D il e
T \
sz
A A
T Ve

©
5
"
5
'3

TesTETI2

oury
e
ours|
e
ol

™

w
o

oe
vee

o Ve '
zwor Vi !
e VWV 1!

"
b

H Ao

1 M 1 .
o o b

otV Ve

H wrou

N
7ol

ﬁ‘\.a wernH s
e ||

RVBOSHOTIG
preey

e
Rote,

o004y

R3g VW

[14] TUNER_ON
ext_ave e

[14TUNER J_DET ¢

14




image2.png
1100y, 2 B5.555 50008/ ZIk 1.88V
T KEYSIGHT
TECHNOLOGIES
R
AR
2.00GSals
HEIE
oc 10.0:1
ot 10.0:1
ot 10.0:1
OC 10.0:1
e
BRERE - FS(1)
2.02V
Bra(l)
2.62V
w72 = [BENSES 572 =(SENSEZ
EE O #E g% ik Lt g HER
SENSE? 5 [ — FE e +5YSW




image3.png
Toloow 2 4 B555:  B000Y Rk 1,68V
T KEYSIGHT
KEelone
£
R
2008545
i
o 1001
o 1001
o 1001
0 1001
HE
R - (1)
43V
FEE)
3.54vV
Wi & =(BENSES 4747 = [SENSE2
i o wE EE3 #iz B HEs
SENSE2 S fe— a—1 FE FE +5VSW





